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Paper One

Part I Listening Comprehension (20 minutes, 15 points)
Part I Vocabulary (10 minutes, 10 points)
Part Il Reading Comprehension (50 minutes, 30 points)
Part IV Cloze Test (15 minutes, 10 poinis)
Paper Two

Part I Error Detection and Correction (10 minutes, 10 poinis)
Part I Translation (15 minutes, 10 points)
Part IIT Guided Writing (30 minutes, 15 poinis)

(Time Limit: 150 minutes)
] & —

Part I Listening Comprehension (20 minutes, 15 points)
Section A

Directions: In this Section , you will hear 9 short conversations . At
the end of each conversation , there will be a question . Both the conversa-
tion and the question will be spoken only once . After each question there will
be a pause . During the pause , you mast read the four suggested answers
marked A, B, C and D and decide which is the best answer. Then mark
the corresponding letter on the ANSWER SHEET with a single line through
the cenler.
Example: You will hear:

You will read:
A. At the office. B. In the waiting room.
C. At the airport. D. In a restaurant.



Sample Answer [ -A---]

From the conversation we know that the two were talking about
some work they have to finish in the evening. This is most likely to have
taken place at the office. Therefore, A. “At the office” is the best an-
swer. You should choose [ A] on the ANSWER SHEET and mark it with
a single line through the center.

1. A. Reasons. Advice.
C. leave. . Opinions.
2. A. Teacher and student. . Manager and customer.

. Secretary and client. Interviewer and interviewee.
. At a supermarket.
. At a department store. D. In a lost and found department.

. She can’t find her notebook in the place where she left it.

5o E YR

In a hotel room.

She can remember now where she left her notebook.
She can’t recall where she left her notebook.

She has found her notebook at last.

They are satisfactory. B. They are disappointing.
. They are terrible. D. Too early to know.
. It’s hard to say. B. Definitely.

. Certainly not. D. Yes, he is.

. $44.00. B. $14.00.

. $40.00. D. $30.00.

He is too sleepy to eat.

He doesn’t feel like eating at this hour.

. He can’t stand the taste of the food.

. He doesn’t enjoy eating in this dim place.

. The man spends more than he makes.

. The man is not keen on arts.

. The woman is an artist.

. The woman looks down upon the man.
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Section B

Directions; In this section , you will hear 2 short passages. At the
end of each passage , you will hear some questions. Both the passage and
the question will be spoken only once. Afier you hear one question., you
must choose the best answer from the four choices marked A, B, Cand D.
Then mark the corresponding letter on the ANSWER SHEET with a single
line through the center .
Questions 10 ~ 12 are based on the following passage.

10. A. Certainly. B. It depends.

C. Certainly not. D. None of the above.
11. A. The world would be more beautiful .

B. The earth would become less visible from the moon.

C. Sunrise and sunset would lose their beauty.

~ D. The view of sunrise and sunset would become more enjoyable.

12. A. Formation of rain drops in the air.

B. Vaporization of water in the air.

C. Development of air pollution.

D. Increase of rain drops.
Questions 13 ~ 15 are based on the following passage.
13. A. They can be used to express all kinds of feelings.
B. They can be used to do business with people.
C. They can be used to convey our most important messages to peo-

ple.

D. They can be used to deliver all the messages in our life.
14. A. Dismayed. B. Frustrated.

C. Disappointed. D. Relieved.
15. A. I helps to avoid conflict.

B. It helps people get their own way.

C. Tt stops any kinds of arguments.

D. It improves the business of the marriage counselors.



Part I Vocabulary (10 minutes, 10 points)
Section A

Directions: In each item, choose one word that best keeps the

meaning of the sentence if it is substituted for the underlined word. Mark
out your choice on the ANSWER SHEET with a single line through the cen-
ter.

16. The contury-old hostilities between the two tribes eventually terminat-

17.

18.

19.

21.
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ed through the persistent efforts of the local government.

A. vanished B. diminished

C. shrunk D. worsened

The leaders of the two countries are planning their summit meeting
with a pledge to maintain and develop good ties.

A. strategy B. standpoint

C. promise D. priority

Computers will flourish because they enable us to accomplish tasks
that could never before have been undertaken.

A. implement B. render

C. complete D. assign

Herman’ s success is due to his hard work and his ability to formulate
plans which will get work done efficiently.

A. fulfill B. approve

C. conceive D. conduct

. The farm ministers scheduled an emergency meeting in Luxembourg

in hopes of easing the worldwide “mad cow” panic.

A, crisis B. alarm

C. hazard D. peril

The young man asked his parents not to worry because he was full of
optimism about his career.

A. motivation B. confidence



C. imagination D. resolution
22. One’s awareness, both conscious and unconscious, of what happened
in the past has a strong influence on one’ s behavior.
A. storage B. impression
C. perception D. memory
23. On hearing of the case some time later, Conan Doyle was convinced

that the man was not guilty, and immediately went to work to ascer-

tain the truth.
A. explore B. obtain
C. verify D. search

24. All the staff members of the department made zealous efforts to clean
up the hall for the Christmas party.

A. enthusiastic B. concerted
C. gigantic D. dedicated
25. The recent findings are also applicable to other areas of design engi-
neering.
A. relevant B. practical
C. convenient D. comparable
Section B

Directions: In each question , decide which of the four choices giv-
en will most suitably complete the sentence if inserted at the place marked .
Mark out your choice on the ANSWER SHEET with a single line through
the cernter.
26. All experts agree that the most important consideration with diet drugs

is carefully the risks and benefits.
A, weighing B. valuing
C. evaluating D. distinguishing

27. More international trend for business and pleasure brings greater
to other societies.

A. exchange B. contribution



C. expansion D. exposure
28. Shortage of land and funding are blamed for the city’ s

green space.
A. inefficient B. inaccurate
C. inadequate D. indispensable

29. ¥ English is not our first language you can often be puzzled by ways
of expression that the native speaker of English does not even have to

A. think out B. think about

C. think over D. think for

30. Retail sales volume in local urban and rural areas rose 57.8 percent
and 46.8 percent, , over February 1995.
A. individually B. respectively
C. correspondingly D. accorgingly

31. This book is a of radio scripts, in which we seek to ex-
plain how the words and expressions become part of our language.
A. collection B. publication
C. volume D. stack

32.A man’s is best when he can forget himself and any

reputation he may have required and can concentrate wholly on making
the right decisions.

A. anticipation B. acknowledgment
C. expectation D. judgment
33. Does brain power as we get older? Scientists now have

SOme SUrprising answers.
A. descend B. decline
C. deduce D. collapse
34. The largest system serving e-mail messengers is the Internet, a
of millions of computers linked worldwide.
A. unity B. combination
6



C. network D. connection
35.1 a letter to an Internet service that distributes journal-
ists’ questions to more than 750 institutions.
A. assigned B. dispatched
C. attached D. detached

Part Il Reading Comprehension (50 minutes, 30 points)

Directions: There are 6 passages in this part. Each passage is fol-
lowed by some questions or unfinished statements. For each of them there
are four choices marked A, B, C and D. You should decide on the best
choice and mark the corresponding letter on the ANSWER SHEET with a
single line through the center.

Questions 36 ~ 40 are based on the following passage.

In the USA, 85% of the population over the age of 21 approve of
the death penalty. In the many states which still have the death penalty,
some use the electric chair, which can take up to 20 minutes to kill,
while others use gas or lethal injection.

The first of these was the case of Ruth Ellis who was hanged for
shooting her lover in what was generally regarded as a crime of passion,
The second was hanged for murders which, it was later proved, had been
committed by someone else.

The pro-hanging lobby (% 4% #| & 7 30 £ Bl ) uses four main
arguments to support its call for the reintroduction of capital punishment.
First there is the deterrence theory, which argues that potential murderers
would think twice before committing the act if they knew that they might
die if they were caught. The armed bank robber might, likewise, go back
to being unarmed.

The other two arguments are more suspect. The idea of retribution
demands that criminals should get what they deserve: if a murderer inten-
tionally set out to commit a crime, he should accept the consequences.

7



Retribution, which is just another word for revenge, is supported by the
religious doctrine of an eye for an eye and a tooth for a tooth.

The arguments against the death penalty are largely humanitarian
(A E X #) .But there are also statistical reasons for opposing it: the
deterrence figures do not add up. In Britain, 1903 was the record year for
executions and yet in 1904 the number of murders actually rose. There
was a similar occurrence in 1946 and 1947. If the deterrence theory were
correct, the rate should have fallen.

The other reasons to oppose the death penalty are largely a matter
of individual conscience and belief. One is that murder is murder and that

“the state has no more right to take a life than the individual. The other is
that Christianity advises forgiveness, not revenge.
36. All of the following death penalty methods are mentioned in the pas-

sage EXCEPT
A. the electric chair B. the lethal injection
C. the poisonous gas D. the shooting

37. According to the first four paragraphs, which of the following state-
ments is NOT correct?
A. Ruth Ellis was shot by his lover, which was regarded as a crime
of passion.
B. The death penalty may help the potential murderers to arouse
moral awareness.
C. The intentional murderer should eat his own bitter fruit.
D. According to the religious doctrine, punishment should be as se-
vere as the injury suffered.
38. In paragraph 3, “deterrence” means
A. proclamation B. protest
C. prevention D. protection -
39. We can learn from the last paragraph that
A. neither the state nor the individual has the right to take a life
8



B. the state has the right to take a life but the individual does not
C. the death penalty has nothing to do with individual conscience
and belief
D. the deterrence figures have added up and the execution rate has
fallen
40. The passage is mainly about
A. the argument in favor of the death penalty
B. the argument against the death penalty
C. the argument about the abolition of the death penalty
D. the argument about the reintroduction of the death penalty
Questions 41 ~ 45 are based on the following passage.
Do you forget to turn off the lights and heaters when you go out of

a room? In 2040 it will not matter. They will turn themselves off and

on again when you return. You will choose the temperature for each
room, the lighting and the humidity. A sensor will detect the presence of
a human (and, with Iuck, ignore the dog! ) and turn the systems on,
and when the humans leave it will tum them off again.

The sensors will work through the central home computer, and
they will do much more than just turn the fires and lights on and off for
you. They will detect faulty electrical appliances, plugs or switches, iso-
late them so that they cannot harm anyone, and then warn you that they
need repair. They will detect fire and if you are out of the house, the
computer will call the fire brigade. It will also call the police should the
sensors detect an intruder. This will not be too difficult because the locks

on the outside doors will be electronic. You will open them using your

maybe using a num-

personal card the one you use for shopping
ber known only to you.

It will be impossible to lose the key, and a housebreaker will have
to tamper (3% 3% ) with the lock or with a window. It is not very difficult

to make such tampering send a signal to the computer.



The computer will be more than a fireman-policeman-servant. It

will be an entertainer, and most of your entertainment will come right into

your home. It does now, of course, but by 2040 “entertainment” will

mean much more. For one thing, you will be able to take part actively,

rather than just watching .-+

41.

42.

43.

45.

The author intends to tell us that .

A. in 2040 we will live without the lights and heaters

B. in 2040 we will use much more lights and heaters

C. in 2040 lights and heaters will be on and off automatically

D. in 2040 there will be no switches of lights and heaters

Which of the following statements is Not true?

A. You can be taken for an intruder if you tamper with the lock or
with a window.

B. The sensor will detect fire and make an emergency call.

C. Without a computer, the sensor can not do much.

D. The sensor is multi-functional .

According to the author, in 2040, new technology

A. will turn everything into sensors

B. will free us from the keys we use today

C. will make the locks out of date

D. will eliminate all crimes

. Thanks to computers, in 2040 people

A. will have no entertainment outside

B. will replace TV with computers

C. will be controlled by computers

D. will have more fun at home

The best title for the passage might be

A. Life at Home in the Year 2040

B. Sensors and Computers

C. The Development of Science and Technology
10



